
0

＝

× 1 6 －

＝ 3 2 × 1

2 × 6 ＝ 3 2③ 3 2 × 1 6 − 3 6

9 0

＝

＝ 3 0 0 0 −

− 3 0 × 3

0 − 30② 3 0 × 9 7

＝ 3 0 ×

＝ 3 0 × 1

＝ 7 × 1 0 0

＝

5 ＝ 7 × 4

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 7 × 4 × 2 × 2 5

１

① 例題

(うすい字はなぞりましょう。)

( )

( )

( )



440

＝

22 12

20

＝ 2 2 ×

③ 2 2 × 1 2 ＋ 2 × 1 2 ＋ 82 × 8 ＝ 2 2

0 0

1900

＝

5
20

100

＝ − 1

− 2 0 ×

0 − 5
20 95

＝ 2 0 ×

＝ 2 0 × 1 0② 2 0 × 9 5

600

＝

25

200

＝ 3 ×

5 ＝ 3 × 8

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 8 × 2 × 2 5

② 確認

(うすい字はなぞりましょう。)

( )

( )

( )

2



24 12

20

＝

2 ＝ 2 4

× 1 2

240

＝

③ 2 4 × 1 2 − 4 − 4 × 1 2× 1

98

0 0

＝ × 8 − 2 × 8

② 9 8 × 8

× 7

7000

＝

＝ 1 − 2 × 8

125

2 5 ＝ 8 ×

1000

＝ 1 0 0 0

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 8 × 7 × 1 × 71 2 5

80

160

＝ − 1 6

＝

③ 確認

(うすい字はなぞりましょう。)

( )

( )

3

( )



450

＝

15 36

30

＝ 1 5 ×

③ 1 5 × 3 6 − 1 × − 65 × 6 ＝ 1 5

2

2208

＝

4
23

92

＝ − 9

− 2 3 ×

4
23 96

＝ 2 3 ×

＝ 2 3 ×

＝ 5 0 0 ×

× 2 0

② 1 5 × 9 6

3

1500

＝

−

25 20

2 0 ＝ 2 5

500

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 2 5 × 3 × × 3

④ 確認

(うすい字はなぞりましょう。)

( )

( )

( )

4



＝

4 × 1 2

＝ × 1 2

＋1 2 ＝③ 1 6 × 1 2 ＋ 4 ×

＝

6

＝ − 1 2

6

＝ × 6 − 2 ×

− 2 ×② 9 8 × 6 ＝

＝

＝ 3 ×

× 1 2 5

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 4 × 1 2 5 ＝ 3 ×

５

⑤ 定着

( )

( )

( )



650

＝

13 42

50

＝ 1 3 ×

③ 1 3 × 4 2 ＋ 1 × ＋ 83 × 8 ＝ 1 3

5

2328

＝

3
24

72

＝ − 1

− 5 ×

3
24 97

＝ 5 ×

＝ 5 ×② 5 × 9 7

900

＝

−

50

100

＝ 9 ×

0 ＝ 9 ×

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 9 × 2 × 5 × 5 0

⑥ 定着

( )

( )

( )

6



60

＝

30

＝ × 2

38 2

＝ − 8 ×③ 3 8 × 2 − 8 × 2 2

490

＝

5

10

＝ − 1 0

98 5

＝ ×

− 2 ×

5 − 2 × 5

② 9 8 × 5 ＝

180

＝

5

15

5 ＝ × 1

60

＝ × 3

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 4 × 3 × 1 5 × 3

⑦ 定着

( )

( )

( )

7



960

＝

48 21

20

＝ 4 8 ×

③ 4 8 × 2 1 − 4 × − 18 × 1 ＝ 4 8

0

4059

＝

5
41

41

＝ − 7

− 1 4 ×

5
41 99

＝ 1 4 ×

＝ 1 4 ×

＝ ×

× 2 5

② 1 4 × 9 5

7

3500

＝

−

20 25

2 5 ＝

500

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 2 0 × 7 × × 7

⑧ 定着

( )

( )

( )

8



16 74

10

＝

4 ＝

× 7 4

740

＝

③ 1 6 × 7 4 − 6 − 6 × 7 4× 7

6
#REF! 94

−

＝ 8 × − 8

② 8 × 9 4

3000

＝

＝ 8 ×

125

2 5 ＝ 3 ×

1000

＝ 3 ×

×

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 8 × 1 1 2 5

#REF!

＝

× 6
#REF!

#REF!

＝ − 4 8

⑨ 定着

( )

( )

9

( )



日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 8 × 1 2 5 ＝ 3 × 5

5

× 1

4

2

×

＝

＝ 3 ×

−

×

② 9 6 × 5

5

＝ − 2 0

5 − 4 ×＝

＝

③ 1 5 × 1 2 － 1 5

＝

× 2 ＝ 1 5 － 2×

＝

＝ 1 5 ×

10

⑩ 仕上げ

( )

( )

( )



800

＝

16 56

50

＝ 1 6 ×

③ 1 6 × 5 6 − 1 × − 66 × 6 ＝ 1 6

2 0

1380

＝

8
15

120

＝ − 1

− 1 5 ×

− 8
15 92

＝ 1 5 ×

＝ 1 5 ×② 1 5 × 9 2

1400

＝

25

200

＝ 7 ×

5 ＝ 7 ×

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 7 × 8 × 2 × 2 5

⑪ 仕上げ

( )

( )

( )

11



180

＝

18 9

20

＝ × 9

＋ 2 × 92 × 9 ＝③ 1 8 × 9 ＋

194

＝

2

6

＝ − 6

97 2

＝ ×

− 3 ×

2 − 3 × 2

② 9 7 × 2 ＝

× 7

7000

＝

2

125

2 5 ＝ ×

1000

＝

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 8 × 7 × 1 × 71 2 5

⑫ 仕上げ

( )

( )

( )

12



760

＝

38 11

20

＝ 3 8 ×

6 ×

③ 3 8 × 1 1 ＋ 3 × ＋ 98 × 9 ＝ 3 8

0

1764

＝

5
18

36

＝ − 8

− 1

18 98

＝ 1 6 ×

＝ 1 6 ×

＝ ×

5 × 7

② 1 6 × 9 5

7

1400

＝

− 5

40 5

5 ＝ ×

200

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 4 0 × 7 ×

⑬ 仕上げ

( )

( )

( )

13



× 2 4

480

＝

28 24

20

＝

③ 2 8 × 2 4 − 8 − 8 × 2 4× 2 4 ＝

0

1152

＝

5
12

48

＝ − 6

1 5 − 4 × 1

× 1 5
96 12

＝ ×

＝ − 4② 9 6 × 1 5

3000

＝

250

5 0 ＝ 3 ×

1000

＝ 3 ×

×

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 4 × 2 2 5 0

⑭ 仕上げ

( )

( )

( )

14



名まえ

・ 　　にあう数を書きましょう。

① 7 × 2 × 2 5 ＝ 7 × × 2 5

＝ 7 ×

② 9 8 × 2

＝

× 2

＝ × 2 − 2

＝ − 2

× 2

＝ − 4

③ 1 2 × 1 3 ＋ 1 2

＝

× 7 ＝ 1 2 ＋ 7

＝ 1 2 ×

×

＝

15

⑮ 力だめし

( )

( )

( )

( 各10点)

目指せ90点！



10

＝ 8 7 ×

8 7

870

＝

87 17

③ 8 7 × 1 7 − 8 × − 77 × 7 ＝

#REF! 97

＝ 6 × −

② 6 × 9 7 ＝ 6 × − 3

25 4

4 ＝ ×

7
100

＝ ×

・ 　　にあう数を書きましょう。

① 2 5 × 7 × 4 × 7

＝ − 1 8

#REF!

＝

名まえ

700

＝

36 ×
#REF!

#REF!

⑯ 力だめし

( )

( )

16

目指せ90点！

( 各10点)

( )



＝ 3 2 0

− 3 2 × 6

＝

＝ 1 －

1 0

3 2 × 6

3 2 ×

③ 3 2 ×

× 3

＝

− 9 0

1 0 0

＝ 3 0 0 0

2 9 1 0

1 6

− 3

＝ 3 0 × − 3 0

1 03 0 × 9

0

＝ 7 0 0

× 1 0＝ 7

7 ＝ 3 × 0

6

0

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 7 × × 4 × 2 54 × 2 5 ＝ 7

②

１

① 例題 答え

(うすい字はなぞりましょう。)

( )

( )

( )



440

1

20 95

1900

20

100

22 12

0

＝ 2 0 0 0 −

0 − 2 0

＝ 4 4 0

25

200

600

20

× 1 2

＝ 2 2 × 2

2 × 8 ＝ 2 2

0 0

③ 2 2 × 1 2 ＋ 2

＝ 1 9 0 0

＋ 8

② 2 0 × 9 5

5

0 − 5

＝ 2 0 × 1 0

＝ 2 0 × 1 0

×

＝ 3 × 2 0 0

＝ 6 0 0

5 ＝ 3 × 8

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 8 × 2 × 2 5

② 確認 答え

(うすい字はなぞりましょう。)

( )

( )

( )

2



240

＝ 2 4 0

1
125

1

1
1000

12

6

× 2

＝ 8 0 0 −

24

20

＝ 1 2×2 0

×2 4 − 42×4 ＝ 1 2③ 1 2×2 4 − 1

0

＝ 7 8 4

0 0 − 8×

0 − 2

2
80

160

1

98

＝ 8×1

＝ 8×1 0② 8×9 8

0

＝ 0 0 0
7000

7

＝ 7×0 0

5 ＝ 7×8

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 7×8 × 2 5

③ 確認 答え

(うすい字はなぞりましょう。)

( )

( )

( )

3



450

＝ 4 5 0

2
25

1500

2

1

15 36

6 0

1440

1

15 96

＝ 1 5 ×

0

×

30

＝ 1 5 × 3 0

× 3 6③ 1 5 × 3 6 − 1

＝ 4 4 0

− 65 × 6 ＝ 1 5

＝ 1 5 0 0 −

＝ 1 5 × 1 0 0 − 1 5 ×

0 − 41 0

4
15

60

② 1 5 × 9 6

0

＝ 5 0

20

500

＝ 3×5 0

0 ＝ 3×5

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3×5 × 2 2 0

④ 確認 答え

(うすい字はなぞりましょう。)

( )

( )

( )

4



2

＝ 2 4 0

＝ 2 0 × 1

1 1

0

6

×0 − 2 ×＝ 1 0

＝ 1 0

＝

×4 ＝ 1×＋ 4 21 6③ 1 6 × 1 2 ＋ 1

1 2

＝ 5 8 8

＝ 6 0 0 −

2

66

0 − 2 ×

1 5 0

② 9 8 × 6

2 5

＝ 3 × 5 0 0

4

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 4 × 2 5 ＝ 3 × ×

５

⑤ 定着 答え

( )

( )

( )



650

＝ 6 5 0

13 42

50

＝ 1 3 × 5 0

③ 1 3 × 4 2 ＋ 1 × 4 2 ＋ 83 × 8 ＝ 1 3

#REF!

＝ 4 8 5

3
#REF!

#REF!

＝ 5 0 0 −

0 0 − 5 ×

0 − 31 0

1 5

#REF! 97

＝ 5 × 1

＝ 5 ×② 5 × 9 7

0

900

＝ 9 0 0

50

100

＝ 9 × 1 0

0 ＝ 9 × 2

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 9 × 2 × 5 × 5 0

⑥ 定着 答え

( )

( )

( )

6



× 2

60

＝ 6 0

38 2

30

＝ 3 0

2× 2 ＝ 3 8③ 3 8 × 2 − 8 − 8 ×

0

490

＝ 4 9 0

5
5

10

＝ 5 0 0 − 1

5 − 2 ×

× 5
98 5

＝ 1 0 0 ×

＝ 1 0 0 − 2② 9 8 × 5

× 3

180

＝ 1 8 0

6 0

1 5 × 3

・ 　　にあう数を書きましょう。

① 4 × 3 ×
15

1 5 ＝ 4 ×

日にち：　　月　　日

名まえ

60

＝

⑦ 定着 答え

( )

( )

( )

7



960

＝ 9 6 0

48 21

20

＝ 4 8 × 2 0

③ 4 8 × 2 1 − 4 × 2 1 − 18 × 1 ＝ 4 8

0

1330

＝ 1 3 3 0

5
14

70

＝ 1 4 0 0 − 7

0 0 − 1 4 ×

5
14 95

＝ 1 4 × 1

＝ 1 4 × 1 0

＝ 5 0 0 ×

× 2 5

② 1 4 × 9 5

7

3500

＝ 3 5 0 0

0 −

20 25

2 5 ＝ 2 0

500

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 2 0 × 7 × × 7

⑧ 定着 答え

( )

( )

( )

8



16 74

10

＝ 1 0

4 ＝ 1 6

× 7 4

740

＝ 7 4 0

5 2

0 0

③ 1 6 × 7 4 − 6 − 6 × 7 4× 7

6
#REF! 94

1

1 −

＝ 8 × 0 0 − 8

② 8 × 9 4

×3

3000

＝ 3 0 0 0

＝ 8 × 0 0

日にち：　　月　　日

名まえ

1000

＝ 1 0 0 0

1 2 5×3

・ 　　にあう数を書きましょう。

① 8×3 × 1
125

2 5 ＝ 8 ×

#REF!

＝ 7

× 6
#REF!

#REF!

＝ 8 − 4 8

⑨ 定着 答え

( )

( )

9

( )



日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 8 × 1 2 5 ＝ 3 × 8 × 1 2 5

＝

0

＝ 3 0 0 0

＝ 3 × 1 0

1 0 0 −② 9 6 × 5 4

5

＝ 5 0 0 − 2 0

＝ 1 0 0 × 5 −

③ 1 5 × 1 2 － 2×

＝ 4 8 0

1 5 ＝ 1 2 2×1 5 －

＝ 1 5 0

＝ 1 5 × 0

4

1

0

5

×

×

10

⑩ 仕上げ 答え

( )

( )

( )



800

＝ 8 0 0

1

16 56

50

＝ 1 6 × 5 0

× 5 6

01

1380

0 − 8

③ 1 6 × 5 6 − 1

＝ 1 3 8 0

− 66 × 6 ＝ 1 6

8
15

120

＝ 1 5 0 0 − 2

0 0 − 1 5 ×

15 92

＝ 1 5 × 1

＝ 1 5 × 1 0② 1 5 × 9 2

0

1400

＝ 4 0 0

25

200

＝ 7 × 2 0

5 ＝ 7 × 8

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 7 × 8 × 2 × 2 5

⑪ 仕上げ 答え

( )

( )

( )

11



180

＝ 8 01

20

＝ 2 0 × 9

18 9

＝ 1 8 ＋ 2 ×

194

＝ 1 9 4

③ 1 8 × 9 ＋ 2 × 9 9

＝ 2 0 0 − 6

2 − 3 × 2
2

6

＝ 1 0 0 ×

1 0 0 −

125

2 5 ＝

97 2

3 ×② 9 7 × 2 ＝

71

7000

＝ 7 0 0 0

2

1000

＝ 0 0 0

日にち：　　月　　日

名まえ

×

1 2 5

・ 　　にあう数を書きましょう。

① 8 × 7 × 1 × 78 ×

⑫ 仕上げ 答え

( )

( )

( )

12



760

＝ 7 6 0

38 11

20

＝ 3 8 × 2 0

③ 3 8 × 1 1 ＋ 3 × 1 1 ＋ 98 × 9 ＝ 3 8

0

1520

＝ 1 5 2 0

5
16

80

＝ 1 6 0 0 − 8

0 0 − 1 6 ×

0 − 5
16 95

＝ 1 6 × 1

＝ 1 6 × 1 0② 1 6 × 9 5

7

1400

＝ 1 4 0 0

日にち：　　月　　日

名まえ

200

＝ 2 0 0 ×

× 5 × 7

・ 　　にあう数を書きましょう。

① 4 0 × 7 ×
40 5

5 ＝ 4 0

⑬ 仕上げ 答え

( )

( )

( )

13



× 2 4

480

＝ 4 8 0

28 24

20

＝ 2 0

③ 2 8 × 2 4 − 8 − 8 × 2 4× 2 4 ＝ 2 8

0

1440

＝ 1 4 4 0

5
15

60

＝ 1 5 0 0 − 6

1 5 − 4 × 1

× 1 5
96 15

＝ 1 0 0 ×

＝ 1 0 0 − 4② 9 6 × 1 5

3000

＝ 3 0 0 0

250

5 0 ＝ 3 ×

1000

＝ 3 × 1 0 0 0

4 ×

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 4 × 2 2 5 0

⑭ 仕上げ 答え

( )

( )

( )

14



名まえ

・ 　　にあう数を書きましょう。

① 7 × 2 × 2 5 ＝ 7 × 2 ×

2

2 5

＝ 7 × 5 0

＝ 3 5 0

② 9 8 × 2 ×

＝ 1 0 0 ×

＝ 1 0 0 − 2

2

＝ 2 0 0 − 4

2 − 2 ×

③ 1 2 × 1 3 ＋ 1 2

＝ 1 9 6

× 7 ＝ 1 2 3 ＋ 7

＝ 1 2 × 2 0

×

＝ 2 4 0

1

15

⑮ 力だめし 答え

( )

( )

( )

( 各10点)

目指せ90点！



870

＝ 8 7 0

87 17

10

＝ 8 7 × 1 0

③ 8 7 × 1 7 − 8 × 1 7 − 77 × 7 ＝ 8 7

8

#REF!

＝ 5 8 2

3
#REF!

#REF!

＝ 6 0 0 − 1

0 0 − 6 ×

3
#REF! 97

＝ 6 × 1

＝ 6 × 1 0② 6 × 9 7

7

700

＝

0 −

25 4

4 ＝ 2 5 ×

7 0 0

100

＝ 1 0 0 ×

名まえ

・ 　　にあう数を書きましょう。

① 2 5 × 7 × 4 × 7

⑯ 力だめし 答え

( )

( )

( )

16

目指せ90点！

( 各10点)


